AFEELZLTFOUTILA (4G6S)

12 10 E R (kM JBO) INEF R Sk (BUE JBO) 12
2% H BE F (B H JBC) — 6 ° — X ¥ 40 (& JBC) 13
3E B 1%&“5%&30)—1 14 16 4—1;?2!: B 7 (=35 JBC) 14
43 ;2 BF B (% H JBO) AR I 2K I (% 8 JBO) 15
53R s+ 1% #8 (ONOJBC) 7 ) =ERZEHE (5 E IBC) 16
6%k | E X (& MEJBO NERh ok & FE (=% JB0) 17
T#A £ N (=3 JBC) — 8 - F 8 B & (3@ JB0) 18
8T B KDOD(%EJJBC)—Z WA #BEF (=3 JBC) 19
9= IE ¥ £ (B HJBC)— ) ! ; FR B & (F /B0 20
1087 E £ & (ONOJBC)—3 ’ # E #EH (ONOUJBC) 21

1 JIF &3 dE (= % JBC)

=R

( ) ( )

20

( ) ( )

AFEELYTBFOUTILA (4BS)

= X (B = JBC)

1R H

2 K EU % (=3 JBO)

=

3 F

¥  fn (3t [ JBC)

% A (=3 JBC) 9

4 R EEE R (B E JBO)

11

Z g (B & JBC) 10

B % (%R JBC) 11

—— — R A ERAE B (EFJBC) 12

13 L 14
5iE % = B (& HJBO) ° A =EKR (BEJBC 13
3 7
6 1L F— (3@ JBO) K T £ (HFHEJBO 14
T+ R & K (B EJBO) ! ’ X Il K #E (8 8 JBC) 15
8 5 # 4t 3} (% 8 JBO) X = ; ¥ BF & 55 (3t @ JBC) 16
( ) ( ) 1|5 ( ) ( )



